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Question Number : 1 Question Id : 513474481 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Evaporation 1s expressed as
arayaidse wor SfLtoad
Options :

mm/min
1 % DH/D:H0

mm/hr

% D.o/ro

mm/day
3 DN/EeEH

cm/day

4 % 0.a0./Ge

Question Number : 2 Question Id : 513474482 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which country occupies first place in organic production
Dodon a$)8e’ ) Beo M@ FI0e" 0.

Options :

India

| % AR L= TA L]

USA

Germany

3. v B0



Australia

4 % @@@c{m

Question Number : 3 Question Id : 513474483 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

In Andhra Pradesh the highest rainfall is received in the following Agro-climatic zone
woFRnsY" edss Sdardo o) SpTrah Tedden Hodeo

Options :
WNorth Costal Zone
1 % @40 £ dodwo

Godavan Zone

Aorad Hodoo

High Attitude Tribal Zone
D83 HOFo ook Ad=S Modwo

Krishna Zone
53“:'&5 Hotoo

Question Number : 4 Question Id : 513474484 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Indian Meteorological Departments (IMD) located at
s TEStn éo"’c\q}) (IMD) %) & woD.

Options :
Culcutta
1. % Soia

Mumbai

> % 00T

New Dellu

3.v 560



Hyderabad
4 % roorerd

Question Number : 5 Question Id : 513474485 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

In sugarcane the process of tying of canes together using dry and old leaves to prevent the cane
from lodging

3596 InG o TOFGHE FHoSEIE Jods HBam BHS BHeDH sd@F0D 25T wi8 &8
N0

Options :
Propping
1 @*Hoh

Roughing

2. @ ﬁl:}ﬁﬁ

Topping

3 % trooh

Wrapping

4% ﬁ‘v@é;;c‘.;o

Question Number : 6 Question Id : 513474486 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The total biomass produced by the crop during the crop growth period is known as
Hod Ahdde TOod Hob a&HY T Jng S50

Options :
Biological yield

1« A5 Bad

Economic yield

5> % Hgé Binb



Threshold yield
GirS bvad

Grain yield

4 % Frgo Bivad

Question Number : 7 Question Id : 513474487 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Following herbicide is classified under Phenoxy acid group of herbicides

Bod Sy Doden Hardy orHE (78 Boddd

Options :
Alachlor
©ofb

Paraquat
Jorsel

Atrazme

e 3R

4o 248

Question Number : 8 Question Id : 513474488 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which among the following weed is used as leaty vegetable
& Eod Send) dng & adh SrdmT ThHe D

Options :
Celosia urgentia
1 @ DEACT efhosr

Teprosia purpuria

> % BFFadir Htndasr



Croton sparciflorus

3 % EersS D8R

Cyperus rotundus

4 % DD FoosD

Question Number : 9 Question Id : 513474489 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Growing of different crops m recurrent succession on same piece of land in year or several years 1s
238 grid’ JEd 85 el HosTE HHTS)sHab; DG Sobem Doddo
Options :

Crop rotation

1.« 208 oo

Ratoon cropping

oTirn Hod

Mixed mtercropping

20 eosd doden

Strip cropping

4 % Ro goof

Question Number : 10 Question Id : 513474490 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The following instrument 1s used to measure the soil moisture tension

He 8 2880 J6:;50uENE Bod HBEGo & @rhiodaddod

Options :
Evaporimeter
1 % DTG

Lysuneter

5 % Dhan&d



Potometer
3 % D06

Tensiometer

4 v 5 @i’

Question Number : 11 Question Id : 513474491 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The mechanical manpulation of soil with tools and implements to result m good tilth for better
germination 1s known as

Al &35) Jo D D6 DS 0585 3 Snéd sI@rH0D her daird dnfoz Mmos&HSH ehEroor
Fod a5t Boiwh Jotrd
Options :
Tilth
1. % 89

Tillage
2 & S

Ploughmg
3 % i Go
Harrowmg

4 % T8onof

Question Number : 12 Question Id : 513474492 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The following weed used as medicinal plant to treat jaundice
Bob Send) JnuE sl DS H TAG I m sIHTrNosaEHod

Options:

Leucas aspera
1 % OFEED & )0
Phyllanthus niruri
> Poodn DEr0



Striga orobanchoides

B 2870 oné)

Nutsedge

4 % O8)@

Question Number : 13 Question Id : 513474493 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Pollination through wind is called as
O 0 207 DEDHTH HODG) SN D GOLrd
Options :

Zoophily

1. % g20edd DO ﬁo?{nﬁ&o

Entomophily

5 % §&3 Do Hodgyo

Anemophily
3 ¢ Jodn DO D020
Hydrophily

4 % G 2e Hon 20:538).0

Question Number : 14 Question Id : 513474494 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Emasculation is the process of plant breeding that refers to the removal of
DHotssn ol MHe HaIs PEHS’ o rrd) FoATH SrdNRk
Options :

Gynoecium

1 % esnds Sdo



Style
fosm

Calyx
3 % 055 D50

Anthers

4 Do Sdsm

Question Number : 15 Question Id : 513474495 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The capacity to germinate a whole plant from any cell or explant is called
2% Seasdn B I5)20d S0k J°f I S Inw3Fod FHTE D500 ©0LrE)
Options:

Apomixis

@@*ﬂ]@&f}

Totipotency
&' OB

Tissue culture

Hogere ég:{m

Parthenocarpy

4% @“QSE‘B:J

Question Number : 16 Question Id : 513474496 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Among the following. which fruit regarded as false fruit
& |Bod TS o) Hoh ém% Do HofSodahdioh
Options:

Apple

1_\-,#035“@5



Orange

2 % [Telo}:]

Mango
3. % ek

Guava

43333'-:;3

Question Number : 17 Question Id : 513474497 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Grassy tetany disease 1s due to consumption of forage deficient in following nutrient
o) 08 %50 &3) D% SWFIG0 J05 HHIH [TH) VLD TEH8 HEYEow

Options :
Calcium

5‘{3365}0

Iron

2. % R0

Sulphur

3 % ~9)8

Magnesmum

iy hoho
4. i

Question Number : 18 Question Id : 513474498 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The ease with which water pass through a bulk mass of soil or a layer of soil 1s called
25 Indos® 28 Tor Jo oz A% 3F FPogrgd) JHd woird
Options :

Soil drainage

1 % A9 adde



Percolation

5 % Hdo o708 o0 ThEso

Permeability

3 @ A6 PHOoB heso

Infiltration

4 % SoeT Hih =08 o

Question Number : 19 Question Id : 513474499 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The pH value represents the amount of
pH Jend 323 Hrdnod
Options:

Inactive Acidity

ey oh ep&se0

Acidity
&saneeo

Total acidity

Jwgo esdeeo

Active acidity

4 Boirde edyEeo

Question Number : 20 Question Id : 513474500 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
The cnitena of essentiality of nutrients was put forth by

Fare uiiEs Mg arerar J50 38 JBodnron

Options:
1. %



Priestly
&

Armon

23@515

Nicholas D J

3 % nEmD B2

Theodore

4 % QDTS

Question Number : 21 Question Id : 513474501 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The study of living organisms n soil is

DB PO OFIEHTY) DN eodrd?

Options :
Soil Ecology

1 % S0 dadde Tgo

Soil Biology

5 Jo £37Ho

Soil Science

3 % )5 TREO

Soil Edaphology

4 % rond JEyred

Question Number : 22 Question Id : 513474502 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The particle density of Quartz is (Mg m-?)
s%0 gm0 arogs (Mg m)



Options :

2 2.5-28

Question Number : 23 Question Id : 513474503 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the followmg is not an advantage of organic farming
Eon TBHS" IO DHohos SgHraHo EN PATFEI0 5

Options :

Improve the soil chemical properties

1% Jo darahdd ofred i

Prevents the pollution of ground water

5w W0 BoO srevarga)) Aol

Provides good quality food
TELDD BS0D) VOO

Decrease m production of high vielding crops

. ®5E HallE) dove ad§ Sibde

Question Number : 24 Question Id : 513474504 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



Gases that strictly obey all the gas laws at all temperatures and pressures
ey ﬁﬂ“ﬁ@ém Snoosn Hioe S¢ oo Ackhdred)odd pdhdor ardod Toinge

Options :

1 Ideal gas

1 & | @3¢50 030

Real gas

2 % ~)e233s) Jrodna

Inert gas

3 # gl ooia)

Aromatic gas

4. % ~0res aroiiazed)

Question Number : 25 Question Id : 513474505 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The number of gram equivalents of solute present m a hitre of the solution 15

28 DO Eomod’ $0A ) ERS0 ran Dogroe Hopg
Options :

Molality
1 % o8

Molarity

5 % 008

Mole fraction

SJrd i

Normality

4 cTU“&EJ@.%

Question Number : 26 Question Id : 513474506 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



The value of Avagadro number 1s
SIME J0DE) Dend

Options :
2.063x10-20
1. % 2.063x10-20

1x10-14
> % 1x10-14

6.056x10°
3. % 6.056x107

6.023x10%3
4 6.023x10%3

Question Number : 27 Question Id : 513474507 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Alkali metals are strongly
50 e Sfdrado fod TS o 28¢° @owron
Options :
Neutral
Electropositive

2 DTS

Electronegative

3 % ms‘:‘égﬁ

Non-metallic

4 % TSNS

Question Number : 28 Question Id : 513474508 Question Type : MCQ Option Shuffling : Yes



Correct Marks : 1 Wrong Marks : 0
In which year Indian mynah bird was introduced to Mauritus to control locusts
de G0N Joho@odEls T DED 2 éoéé&ﬁ@t’f woboir S0k Sr0ATH Jhdd DTd
Options :
1562
1 % 1562

1662

, % 1662

1762
3 1762

1862

Question Number : 29 Question Id : 513474509 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the plant contains rich source of pollen for honey bees
83805 eodns HIMED wobod I J6

Options :

Neem

Ponganua

2 %S“F\fﬁﬁ

Soap nut

- B00806a

Sorghum

4.9 &



Question Number : 30 Question Id : 513474510 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Mother moth examination done for the following diseases in silkworm
SEHEDS’ D 508 $D HodS HbY DA .
Options :
Grasserne

1. % OO

Pebrine

2.v DB

Septicemia
3 % PR DAl

Muscardine

4, % YRS

Question Number : 31 Question Id : 513474511 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

For mass trapping how many number of pheromone traps should be placed m field
DoHOc FSrrsor esdosEUs oo’ ) Dorrsds avged soTd
Options :
10-15
1. = 10-15

15-20
5> % 1520



Question Number : 32 Question Id : 513474512 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

“Isle of wight™ disease m honeybees 1s caused by
sadios’ pd e 38 T30 B oo Fenrbeéod
Options :

' Fung1

1 % 8bogen

Mite
2.v 2
Bactena

] L
3 % ETEE'DJJ""

Virus

4 % DD

Question Number : 33 Question Id : 513474513 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The following insect have a pre genital abdominal appendages

& 800 Bbred’ D88 PFrisde” 458 saroren SO sodron

Options :
Butterthes

| % hass DHeofen

Coccmellid beetles
2 % elode Hdobhen

Silver fish

3 v 5@55 e 1

Thrips

4 % & a0 aydorben



Question Number : 34 Question Id : 513474514 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The abdomen of queen termite enormously enclosed after mating the condition 15 known as
NORG0 80%d o) BOYDD gy SB6 grfio erm DhME0H AD9) Do,
Options :

Physogastry

1 v 297Q

Platygastry

o % FOTR

Anagastry
3 % DT
Hypogastry

Question Number : 35 Question Id : 513474515 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The following cotton variety 1s resistant to whitefly
800 TOS° HAD w0 BuGHD Sty §I 655w

Options :
Shakthi
1. ® =

Vikram
5o

LPS - 141

3 @ YOD.000 - 141

Dharani

4 ﬁmﬁﬁ



Question Number : 36 Question Id : 513474516 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Engine converts
& 800 TS ) ¥ 0BT 2 T SrEHN0H.

Options :
Mechanical energy to heat energy

. OSTO@S 3§ - 53 48

Heat energy to mechanical energy

, o B89 - cio@s 38

Electrical energy to chemical energy

o DS 5 - oS 4§
3.

Chemical energy to electrical energy

Srad 3§ - DS 35
4, %

Question Number : 37 Question Id : 513474517 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Compression ratio of carburetor engine 1s
Enteb R025¢° So@ET AiE Jos?

Options:
4:1 to 8:1

1. ¢ 4:1 H0d) 81

8:1 to 12:1
2 % 81 o) 1211

12:1 to 16:1
121 Hod) 161
®



16:1 to 20:1
161 oo 2041

Question Number : 38 Question Id : 513474518 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Horizontal suction angle m disc plough 1s
DY THOS DSToSS Srde Sedn

Options :
2025
1% 20 - 25°
30 -35°
L 35
40— 45
3 40 — 45
50— 55°
4% 50— 55

Question Number : 39 Question Id : 513474519 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Optimum temperature for raw paddy in LSU dryer 1s
3% JoGTHEIE J6.)0.050 BoDb & sH@rhod aafid
Options :

300C

. 30°C

1. %

400C

40°C



50°C
50°C

60°C
60°C

Question Number : 40 Question Id : 513474520 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The plough where soil mversion takes place 1s
B FOH®T) THD J6?

Options :

Mouldboard plough

1 Frgesy ond

Chisel plough

> % AT 1D

Disc plough

&oy oD

3. }
Country plough
OdTd Tnd

4, %

Question Number : 41 Question Id : 513474521 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The spray volume (lit'ha) m low volume sprayer 1s

S35 Teopm (obs’ &) Tergd (5./37.)

Options :
5-400
5-400

1.4



400-500
400-500

500-600
3 % 500-600

600-700

600-700
4, =

Question Number : 42 Question Id : 513474522 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The PTO speed of a tractor 15
EE6 D2 s

Options:
240 pm

| w 240 86505

340 rpm
340 =8.2.0

440 rpm
440 s5.5.05

540 rpm

540 es5.9.0
4. &

Question Number : 43 Question Id : 513474523 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Multicellular mycelium is a characteristic feature of

Derezgoing dHogerosn DA &0t 3DHogiw s

Options :
1. %



Zygomycetes
BRDNES

Oomycetes

5 % &Ho085

Mastigomycetes

578 FHES
3. %

Ascomycetes

e 2HES
4.9

Question Number : 44 Question Id
Correct Marks : 1 Wrong Marks : 0

Phanerogamic root parasite
?’J;,iu:,mzﬂ o) i Do £
Options :

Cuscuta
Eﬁ%ﬂ

Loranthus

_ eTOrosn

Striga

G.?'JT"

Nepenthes

4 % I

Question Number : 45 Question Id
Correct Marks : 1 Wrong Marks : 0

: 513474524 Question Type : MCQ Option Shuffling : Yes

: 513474525 Question Type : MCQ Option Shuffling : Yes



Damping off disecase causing pathogen 1s
Tk Brben o@D oph 22550

Options :

Pythium

SB0%00
1.9

Perenospora

=0 5‘@30‘
2. ®

Ustilago

-::ﬁ)}%t?ﬁ‘
3. %

Colletotnnchum

FOSBED
4, %

Question Number : 46 Question Id : 513474526 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Crop rotation 1s a management option under
Dot &r0)s ©I6 o aredrd; HE8 oo BowHHs.

Options :

Exclusion

Avoidance
> % Bhen o é?-}:ID:J{éD

Eradication
. f\j{iﬁéamﬁtﬁm

Protection

2005
4, ®



Question Number : 47 Question Id : 513474527 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The variety DRSH-1 hybrid belongs to the following crop

EebanD TS -1 D6 o Dob% GTTdn

Options :
Castor

1 % &9 30050

Maize

E-J:Jég, &= Eﬁ;‘L

Sunflower

D ERBHHE

Sesame

SN [N

Question Number : 48 Question Id : 513474528 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The deficiency of the following nutrient leads to “Hollow Heart™ in groundnut
SIS’ & fod FassHo Ju S ﬁg“ & oo &00
Options :
Boron

Nitrogen
A
Iron

3. % oda



Zinc

2ok

Question Number : 49 Question Id : 513474529 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The water requirement (mm) of rice crop is
358 H0& 2D Sone%H THeHS DS HbSremo (Dh.n.)
Options :
500-600
« 500-600

700-1000
5 % 700-1000

200-400
200-400

1200-1500

4 1200-1500

Question Number : 50 Question Id : 513474530 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Water msoluble orange red dye extracted from safflower. which 1s readily soluble m alkalme
solution 1s

hohd s’ A Fooz 6 o (@) HBS' i T 80 OF FIEs” HePT hikd0d
Options :
Roghan
1. % 0P
Carthanudin

, % SEDBS



Carthanun

5 a0
4.9 >

Question Number : 51 Question Id : 513474531 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which among the following 1s aromatic rice
S0 2D e S0 dlo
Options :

Basmati

1. ¢ ar:ba@

Kumool sona

> % 5(&715%‘&7‘

Warangal sannalu

3 % Ssories "’Ma—im

Samba masoon

4% PO J0NTD

Question Number : 52 Question Id : 513474532 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

An example of non edible o1l seed crop

&% Bob TR grid S Aoze DobHh ST

Options :
Sesammun

1. % m@sm



Sunflower

B BRI

Castor

&3 3000
3.¢¥

Mustard

4. % BT

Question Number : 53 Question Id : 513474533 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

In sunflower what 1s the plant population per hectare if the spacing 1s 45 em x 30 cm

ErS e’ 45 0.0 X 30 0.0 ©:H5009 IEIT TThH IH o Fodd Jod

Options :
54054
1. % 54054

84084
> % 84084

64064
3 % 64064

74074
4 74074

Question Number : 54 Question Id : 513474534 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which method of FYM preparation 1s mamly adopted in Indian villages

FYM dasrde’ porsdor erdéod rared o 2G8 ©300DY G

Options :
Pit method

| x 108 2g8



Heap method
, o S5 568
Covered pit method

gpbS hod thgé
3. %

Below Ground level method

BINS Trom HSS
4, ® el

Question Number : 55 Question Id : 513474535 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Ripened papaya used as food baits to attract the snails in field comes under which type of pest
management
Do0e 3§05 B500SEIS B JOT SI@PAOD H0GS D o G5I Moo Gous Sod
Options:
Biological control
1w 2 Jobode
Physical control

gye s Daloge

Mechanical control

aiross DohoEes

Cultural control

4 % 20D )88 Doho@es

Question Number : 56 Question Id : 513474536 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

An example of symbiotic nitrogen fixer
2Har A55 Sfesd E{gﬁﬁ{fs‘;ﬁa s O



Options :

Rhizobmum

Deitfoho
1.+ =

Azospirillum

25 0o
L=t )

Azolla

e
3. % g

Azotobacter
P:Jé“e‘i“z}‘-g 5

Question Number : 57 Question Id : 513474537 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

DDT was invented by
B.E.6 D SHF3) T@dd

Options :
Rutherford

x5

C.N. Acharya
IS RN Tl
2. %

K arl Thomas

50 R
3. %

Paul Muller

VL

Question Number : 58 Question Id : 513474538 Question Type : MCQ Option Shuffling : Yes



Correct Marks : 1 Wrong Marks : 0

The deposits of Guano 1s treated with which chenucal before it 1s prepared as manure
e AFarod JhHIT Soird VahaEns Snod o) Jarahdos D) Bandd
Options :

Boric acid

1 % 25°05 &0

Nitric acid

35 e
2. %

Sulfuric acid

oerebs essno
3, o TR

Copper sulphate
50 ;’353,&':?
4, ®

Question Number : 59 Question Id : 513474539 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Sprinkling of which chemical between layers will put down the offensive odour during urban
compostmg

Dge Sodfye’ ) dronad) duco Sud HYodH TIIH Eiod
Options :

Sulphuric acid

oorefE esino
1. % pp

Bornc acid

25°05 &0
2. ®

Carbonic acid

5075 esdno
3. %

4.+



Copper sulphate
eti) ;’ﬁ:ﬁ

Question Number : 60 Question Id : 513474540 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The process of conversion of an ¢lement from an organic form to morganic as a result of microbsal
decomposition
g en SHEBI 53 drdod fiv HFa8 Sorgod, DHegor SHEMOR Irges’s Srd) T B
Options :
Immobilization
=ip- F7% B
1 % Harm AT ED

Mineralization

MI3sBHAT
2.9

Solubilization

3 % (©3B56e

Humus formation

Soe0S SO0

Question Number : 61 Question Id : 513474541 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Number of teeth like serrations on thorax of adult saw toothed grain beetle
Body Do b AN Prmreddnst ) Sod S So8 exo sodmd

Options :
8
1. % 8

4
2. % 4

3.v¥



4. %

Question Number : 62 Question Id : 513474542 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Name of the msect pest on sorghum causes reddish ooze comes out from spikelet when squeezed
&%) 200& ) HHH eodio SoF fomon S8 JHY do Bdo Suyd

Options:
Sorghum ear head bug

) of by Tov] ¢V
1. %

Sorghum stem borer

5 % 2'%) T060 o YHHD

Sorghum midge

&) ohsos Hb
3.v

Sorghum pink borer
i herd Joi i

Question Number : 63 Question Id : 513474543 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The following caterpillar 1s whitish m colour with five violet stripes dorsolaterally on body
& Bobd HHH @Y o Hhbe o Wd 5 B IO dod Wb okron

Options :

Top shoot borer

&g OB Yoo
1. %



Bice stem borer

58 sodo FOT i
2. ®

Early shoot borer

OF HBD/B0SeSOT o
3. ¢

Sugarcane Inter nodal borer

DFE%H Todo FOT HDMD
4, %

Question Number : 64 Question Id : 513474544 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Scientific name of house sparrow

DN FTROoD T dnsn

Options:
Carvus spp.

S":::‘fﬁ

Columbia livia

g Soofaty OIaw

Psittacula spp.

Sdrhe
3. % T

Passer domesticus

D6 EDDHES
4.9 .

Question Number : 65 Question Id : 513474545 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Name of the following brinjal pests attacks on ratoon crop

Bod T8 2 HHH 8) Joi Shd BFNOD

Options :
1. %



Shoot and Fruit borer

Ea) sobain sah S'onh )l

Stem borer

060 Faoh
2.9

Leaf mite

e505€)
3. %

Hadda beetle

efodge Hb
4, ®

Question Number : 66 Question Id : 513474546 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
Citrus mangu 1s caused by

Ijé-:la@a Spbasn o Bhen B HoH SHod

Options :
Citrus rust mite

D) B8
1. :

Termites

Citrus Psyllid
28 DOE

Citrus butterfly
D) SaPdoens

Question Number : 67 Question Id : 513474547 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



Grape vine flea beetle damage 1s more severe durmng the months of
@8 Dob& o HHMHO 6B S oS Iy ST BotHOd

Options :
January - July
1. % 2d00-228

April - June

, % W&

September - November

Pooab-sd50a06
3.¢ °

March - June

4 % qﬁ:ﬁﬁ;\—aamﬁ

Question Number : 68 Question Id : 513474548 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Change in output as a result of change m vaniable mput 1s
derof aaitos’ Srdy) oot B S° EOT S, JDotrd

Options :
Total product

- o s

Marginal product
> arod odd
Average Product

Sl S
3. %

Elasticity of production

4 % BE)E OnG HBTHIS



Question Number : 69 Question Id : 513474549 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
The shape of the total fixed cost curve 1s
Iwdo B SgaRo B BN B5Go JDo&?
Options :
Horizontal to x-axis

X-eoz0)8 Sdroddor
1.v

Inverse S shape

5 % V9% S esdo

U-shaped

3 % U-s=6o

Hyperabola

4% Tab g

Question Number : 70 Question Id : 513474550 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The slogan “Find Raiffeissen™ was raised by
208 093" @ ITTY) JSH PaarboTh?

Options :
Horace Plunkett
1. i@ 1&7@-‘65 Qﬁgﬁ

Fredenick Nicholson

(PE0F oS
2.¢ :

Edward Mac Lagan

Q]tﬁogg EeTrRS

Montogue — Chelmsford

Sro@ity Bam @‘g



Question Number : 71 Question Id
Correct Marks : 1 Wrong Marks : 0

Dairy cattle is an a example of
ol DHHeoo B8 ST

Options :

Current asset

, BRS exe

Current hability
5 % P s epen

Intermediate asset

3 20458 eyen

Intermediate Liability

0GEsOE eadpen
4, % )

Question Number : 72 Question Id
Correct Marks : 1 Wrong Marks : 0

: 513474551 Question Type : MCQ Option Shuffling : Yes

: 513474552 Question Type : MCQ Option Shuffling : Yes

The market charactenised by large number of sellers dealing with heterogeneous commeodity 1s
o3¢ oot PIEEIOERS JDhHODH Jgonod 78,6

Options :
Monopoly
1w OSagHg0

Perfect competition

D008 FE

Monopolistic competition

Qareng &



Oligopoly
“ DO wrpdago

Question Number : 73 Question Id : 513474553 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

World Trade Organization (WTO) was established m the year
@bod Teeny D03 Thodass doséydo DB&?

Options :
1995

1. ¢ 1995

1985
> % 1085

1975
3 % 1975

1965
4 % 1965

Question Number : 74 Question Id : 513474554 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Hot water treatment for management of sugarcane red rot disease is performed at
Desse’ J@she) Bibo ohow JTbodEds ndyo 36 8¢ HRdcnes sTd)d K090

Options :
520C for 15 min

52° 20d{E H¢ 15 Ddoaren
1. %

500C for 15 min

. 50° 2oBHE 3¢ 15 Doaren

3.¢



520C for 30 min

52° 2odiG 5& 30 varen

50°C for 30 min

50° oG S8 30 Joaren
4, ®

Question Number : 75 Question Id : 513474555 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Vector for Redgram stenility mosaic disease
soad® oOE Trarons  Sbdo oo TR Domod
Options :
Aceria cajani

1. ¢ e nbolr e

Orosious albicinctus

2, G n0in @@Jbogﬁ

Thrips tabaci
Gy were

Bemisia tabaci

4 % T gD

Question Number : 76 Question Id : 513474556 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

An extemally seed borme disease m sorghum

T Dddo oot 5N Dol Blbew
Options :

Rust

_— gy Biben



Charcoal rot

SO0 e‘mﬁ Bies

Gram smut

TEnE Birben
3.¢¥

Anthracnose

4 % 2583 Srbew

Question Number : 77 Question Id : 513474557 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Recommend root stock for citrus tristeza disease management
A5ne* BYer Bhen oNOT S0GEIE TTE ®otn 630

Options :
Rangpur lime
doragrd )

v 900 )

Balaj

) % erer el

Tenali selection

a8 Deio

Khagzi hme

4. % 5‘*@ :}:D;

Question Number : 78 Question Id : 513474558 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

“Morse code™ 1s a symptom of which banana disease
376 £6 ooy oids’ o Bhess® $DHTow
Options:

Bunchy top
1.« Mot S 3hen



Panama wilt

MleTal® SGeD Bihen

Mosaic

=oerong

Moko wilt

4 % 2rS Bibe

Question Number : 79 Question Id : 513474559 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Thread like vascular bundles associated with black mucro sclerotia m splitted stem 1s a symptom of

FOE) AOYT WD SHpd T Yoo HgI T S8 D0 39 Bdog deree’ swb Hoddo o)
aiben mgmo
Options :
Wilt

1. % 2iso0 Bben

Charcoal rot
> S0E0 E’mvﬁj;, Srben
Leaf blight
3 % B85 Jod Bihen

Rust

4 % gy Brben

Question Number : 80 Question Id : 513474560 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Red gram diseased plants exhibiting bushy. pale green plants without flowers or pods is a symptom of
S0’ T30 H53 Tng oo B e Sgo SHA, DD 5T T 570, Jeois) vFTe 2 Bihene’ £DD0H%

Options :



Bactenial leaf spot

aa‘gtscﬁ)o 2o Biben

Wilt
2. % e 3o

Sterility mosaic

3 ¥ Socgee Trarons

Phytophthora seedhing blight
PETT ok Brben

Question Number : 81 Question Id : 513474561 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Domestic animal that 1s known as poor man’s cow
DETE s ol Deodsat DoNd 2ol
Options :

Cow

R

Sheep
2. x N0
Goat

3. ¢

Poultry

4, ® éﬁ@"'

Question Number : 82 Question Id : 513474562 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

For maximum benefit of sunlight the long axis of the damy barns should be set i the direction
APdes08 08 f0a PAraso 590 8 HHY® MITIHE OnY), FEIS ©FY) J 095" BRmd



Options :
North — South

1.« b S0-0880

North — East

& J0-8riy)
2. %

East — West

5w STOBEDH

South - East

4 % GEE20-S7 00

Question Number : 83 Question Id : 513474563 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The chief constituent of Lemon grass oil. which 1s used m preparation of Vitamin A tablets
D) 18 $08 D $r36* D 6FawTY) TB 26DS V CPLD s 6.
Options:
Geraniol

1 % Bod@rS

Citral

2. PES

Cochin o1l

3 ® S esones

Rusa ol

4. % Gonr eond

Question Number : 84 Question Id : 513474564 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Water usage of cotton plant at peak flowerng stage

P8 edrpgor Haod G¥S° IS IIDT0 dod H65 Gotnod



Options :

3.5 lts/day

1 % 35 ot/ e

8.9 mm / day
8.9 Jn.n./6"
L

8.9 lts/day
5 % 89 bow/s
3.5 mm/day

3.5 2.50./6%
4, %

Question Number : 85 Question Id : 513474565 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

In grading of Aswagandha. root pieces upto 7 em length and 1.0-1.5 em diameter are considered as
oierior D SnH e 7 0., S HO0KD 1.0-15 0.2, TR 08 TE D @6 sordodadhen

Options :
A grade root

RN -

B grade root
‘D {5

C grade root
D P&

Lower grade
S'ahd PG

Question Number : 86 Question Id : 513474566 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The hoeing 1s done after sowmg of the sugarcane is called as
DO DBI SHTE TH WT000MDD 0.



Options :
Blind hoeing

1« B0ob Trronoh

No till farming

> % g B @‘Ggoﬁ

Pruning

5 x 58009

Inter cultivation
4. % ©088 EviaY

Question Number : 87 Question Id : 513474567 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which 1s an aromatic plant 1s used m garlands, bouquets and religious offerings?
Soden, JAybamyeo H0sN HEDTS efmed’ adobhod ol Jng, 0.

Options:

Davana

1 @ B3%0

Aloevera

) % O3

Geranium

Mentha

o

4 % Tt

Question Number : 88 Question Id : 513474568 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Andhra Pradesh Medicinal and Aromatic plants board constituted m the year
sOP@UE TR 00N W0 Barge MK e &°F Jo@ Dodddo



Options :

2008
| % 2008

2002

2002
2. %

2000
3 % 2000

2005
4 % 2005

Question Number : 89 Question Id : 513474569 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The following 1s a variety of citronella
god T8 HE'Jer Tng), S0 D ohdn

Options:

Dharam

| % O6D

Keshan

2. % Ea0

Mandakimi

3 snotria)

Gomati

{58
4. %

Question Number : 90 Question Id : 513474570 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Red pepper 1s native of the following country
‘D& G @I MED o) BTIE BOOIA.



Options :
India

1 % =mob&air

Africa

2. % BOS

South America

3 &8e eshls

Australia

4w H[sg@ojjﬂ

Question Number : 91 Question Id : 513474571 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which parental lme is also called as “Restorer line” m hybrid seed production using
cytoplasmic — genetic male stertlity
Seagdddy dog YA Soggodto T H086 Srod add danwe’ addriod Hrd Fmed’ & §od
T8S B PIHTTID ©I §7F ot
Options :
A line
| % Y S

B line
‘D’ g0

R line
‘s’ ESdm

C line

Y’ ES0m

Question Number : 92 Question Id : 513474572 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



Which of the following 1s wrongly matched with respect to isolation distance need to be mamntained for
foundation seed production

208 @n) ITO TS FHosohs Joi drdind af Kor Fhodedd aé J6?
Options:

Cotton — 30 m
1. % @& - 30 .

Greengram — 10 m
2. % DdHen - 10 .

Castor— 150 m
. e 30530 - 150 o,

Maize — 1000 m
4 @ 05EI) - 1000 o

Question Number : 93 Question Id : 513474573 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which class of seed 1s distributed to farmers for commercial cultivation
& 00 Te* ) S6188 S00000AS DESInS ey 3606 vBaive §63 DHoH 20dd 0.

Options :
Nucleus seed

| % SO DG

Breeder seed

, x BmSITHD DFDIw

Certified seed
3 v tﬁé}ﬁ)ﬁﬁm éh 5w

Foundation seed

, DT &8
4.



Question Number : 94 Question Id : 513474574 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The sale of organic agricultural products depends upon
Dohodh Sgdarosh edde JFobo B STiHs Sotnod.
Options :

Market opportunities
1 % 370y 6 sdsTo

Consumers
2 % A Tw Vil (A e YY)

Marketing mix

3 % Dy Bof 205)

Marketing process

4 STCB0N HEad

Question Number : 95 Question Id : 513474575 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The category of organic products whose export 1s more from India 1s
grosBdo S0k JEy ST S8 Bohad Dodah adyde

Options :
Oilseeds
1. % 2 Homew

Processed foods

5 R0 B0 eF6 doge

Cereals & Millets
égm{;ﬁ"mgm 00w JoEén

Sugar

4. % S0



Question Number : 96 Question Id : 513474576 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The following 1s used for identifying a legal company
S DU éog;&a MHBoSEIE B0 1) ©0F0 SHAFHHEDL.
Options :

Label
1.« Bend

Packing

) % argSof

Packaging
3 % arS20h

Grading

fé&of

Question Number : 97 Question Id : 513474577 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Product conversion period for eggs
g &&8 1ok soo
Options :
30 Days

1 % 30 =ew

90 Days
90 &eren

60 Days
3 % 60 Geen

42 Days
42 G'eren



Question Number : 98 Question Id : 513474578 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Following is the reason for not expanding of organic products
nohodh aréden DJ0oSEFIFAE o S0

Options :
Slow expansion of market area

1.« 70 & prodo IS0 DYBodEo

Low quality standards

5 % S5 O Tepd PITET D

Better Transport
=odons daer

Safety measures

4 % ATlAT A To TN

Question Number : 99 Question Id : 513474579 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Customer service comes under which ‘P’ s of marketing mix

IAN@DrATHOS DI00b0BG0 RS0 510 Bof MFSE0s'D o ‘P’ 8§ Hom0sodHS
Options :

| Produect

ﬁéf‘{@'c‘ééﬂ
1 TS EES

Price

5w @0 (@29)

Place

200 (W)
3.% °

Promotion
4 x OIS



Question Number : 100 Question Id
Correct Marks : 1 Wrong Marks : 0

ITC’s Aqua Choupal is related to
ITC o5 Tard DAL H020000S6.

Options :
Milk
1, 23 @"ED

[Tl
g
=]

n

i

2y

2. %

Vegetables
Srdmroion

Prawns

4 &'odagen

Question Number : 101 Question Id
Correct Marks : 1 Wrong Marks : 0

: 513474580 Question Type : MCQ Option Shuffling : Yes

: 513474581 Question Type : MCQ Option Shuffling : Yes

Generally., greenhouse will be constructed in the direction of
FrEdaor (T 55 o OFS" D0)odakdod

Options :
East - West
1 o STEN-DEH0

South — North
5 % tEmo-s&do
North — East

aréd Go-rdn
3. %



South — East

t5§es0-ertin

Question Number : 102 Question Id : 513474582 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following green house roof matenal has long life
Q8 Sewo HF) (S T PEHP BIAS Saird Dohadhdod
Options :

Polythene

Poly ester
Td26

PVC
3 % PVC

Rigid panel
826 ordd

Question Number : 103 Question Id : 513474583 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The amount of carbon dioxide at which crops respond favourably
ArErGeorT Doben Jod Jratth ShYendn TN ST D8 00,007
Options :
2000 ppm
1. % 2000 ppm

200 ppm
9 % 200 ppm

345 ppm

3 % 345 ppm



1000 — 1200 ppm
4. 1000 — 1200 ppm

Question Number : 104 Question Id : 513474584 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Droplet size mn fog cooling system 1s
&rfi §r00h BYHS' Hoh HoSErem0 Jod

Options :
5 microns

1w 2 DED)

10 microns

10 )

2. ®
20 nucrons
2 % 2026

30 microns

30 S
2

Question Number : 105 Question Id : 513474585 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Angle between the two mirrors present m an optical square 1s
&2 86 2 ¢66° 0BG Do ere Dy SFman
[} [=

Options :
35"

1, % 33°

45°

2. 45°

]
I_;.

n
Lh



65°
, 65°

Question Number : 106 Question Id : 513474586 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The slope of lines can be measured with the help of
JoHye Tood od HFahos Feddn

Options :
Clhnometer

85 Soeb
\u'/ oy

Pedometer

5 % DG el

Parambulator

3 % D6onBed

Odometer
4 % 5,6 Heb

Question Number : 107 Question Id : 513474587 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
Corm 15 present in
50) $DASES0BO 6
Options :
Lilly
1. % 99

Onion

2. % °%

Colocasia



Turmeric

5399
4. %

Question Number : 108 Question Id : 513474588 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Open centre system of traming followed m

£T Do6E HGEY 2 YY" FEA®

Options :
Mango
1 % Db

Plum

2
2. 7

Grapes
3 % &g

Apple

4 w&aﬁaﬁ

Question Number : 109 Question Id : 513474589 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The chemucal used for ripening of Banana 1s
©58 HEDQHTIE SHAFAOD SFANS0 DO?

Options :
Ethrel
1.v 300

GA3

2o BaE escnam
2. % Sl i



ABA

Question Number : 110 Question Id : 513474590 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the followmg is a hybrid coconut
& fod Tdd Fayd Hosd I Bendob.

Options :

East Coast Tall
& ﬁg ]

Ganga Bondam

fomr &5 050D

Chowgat Orange Dwart

FhE estok G‘SS:J

Godavan Ganga

RS0 foi
4.

Question Number : 111 Question Id : 513474591 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The seed rate (kg'ha) for cluster bean 1s
mdo SN 6 ED et (B2/2r.)
Options :
30-40
1 v 30-40

10-20
2. o4 1{] 'Eﬂ



20-25

3. % 20-25

25-30
25-30

Question Number : 112 Question Id : 513474592 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The famuly of Jasmne 1s
B o) Henoerds TodIo.
Options :

Jasmunaceae

1% E‘?}éﬁ-ﬁj

Oleaceaes
2 5,00

Rutaceae

s
3. %

Asteraceae

4% @géh

Question Number : 113 Question Id : 513474593 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
The most suitable fruit for Jelly making 1s
2 S03rH8 TS Do O
Options:
Mango

| w 3B

Guava

oy
2.9



' Apple
2G]

Papaya

aﬁ“i*:pm
4. %

Question Number : 114 Question Id : 513474594 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Agricultural mformation material which gives latest important. mterest creating message of the meident
accurately without bias

Spderah SrE%HOH 2.8 Hoobd mbod s, ém;g&@ga’:}l D507 @H8d éa?{;}oé 5004 Srgeso

Options :
News stories

1. & % gdaen

Folders

a0t DiEFen
2.

Leaflet

S 88

3.

Bulletins
4 % eosdoen

Question Number : 115 Question Id : 513474595 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

According to the scientist Whyte leaders are classified into
36 @sdo Fohde S§5den?
Options :

2 types

1. % 2 dsen



3 types

3 dzen

4 types

3‘,4{?5‘@

5 types

4$35C55m

Question Number : 116 Question Id : 513474596 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

In the term “Sociology™ socious 1s denved from the language
“PFhcire” o S50 FhoHD ©F HS50 o Fasod Birodadss

Options:

English

"0

Greek

2w 09

Latin

e o

French

4, ® 0D

Question Number : 117 Question Id : 513474597 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

In general meetings abrupt creation of it may lead to
TEde HSrIToS efnE H)a & $od TO8 b Sohday

Options :
Enthusiasm

. )
1. % I‘.f!i@i‘:ln_.D



Bormng
2 QdEn) o

Interest

Responsibility

4 % T Giged

Question Number : 118 Question Id : 513474598 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Type of education i which horizontal shared leaming between teacher and leamer 1s seen
SarTEoing H00N earpoHe D Sba Sdrodd afﬁﬁ:g;i)g L0 406G e 680

Options:
Formal

1 % Do

University

L] ; E}m"gm svale]
2. %

Informal

3 % ©IaHS

Non formal

ross® (Bor) Sgdarad grives' DHde Do
4,

Question Number : 119 Question Id : 513474599 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The degree of evaluation for which surveys and score cards are necessary

5ogen Sodokn 56 e eSHddhy Srergoss sron

Options:
1. ®



Day to day
oz 0

Self check

5 % S§O% 829

Do it yourself

3 @ S5088 &0

Formal

4 % Done

Question Number : 120 Question Id : 513474600 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Articulation of centralized administrative power to the institutions which are close and convenient to
the people 15 called

096 SopK)SDY oI PO BT, eNYTH 6f) oToT HogH eTIE) D0t

Options :
Democratic decentralization

| perargsy 8ohsde

Democratic centralization

erargdy SodEdes

Democratic consolidation

peraresoy 8¥0em

Democratic integration

. Perareay 5084dm
4.





